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QUESTION 1

View the Exhibit and examine the procedure to create a trigger name based on the table name supplied to the
procedure. 

Which three statements are appropriate for protecting the code in the procedure from SQL injection? (Choose three.) 

A. Explicitly validate the identifier length limit. 

B. Add AUTHID DEFINER to the definition of the procedure. 

C. Use PRAGMA RESTRICT_REFERENCES in the procedure. 

D. Filter out control characters in user-supplied identifier names. 

E. Use the object ID of the table from the data dictionary to build the trigger name. 

Correct Answer: ADE 

 

 

QUESTION 2

The database instance was started up with the following initialization 

parameter values: 

MEMORY_TARGET = 500M 

RESULT_CACHE_MODE = FORCE 

RESULT_CACHE_MAX_SIZE = 0 

After the database startup, to enable the result cache, you issued the following command: 

SQL> ALTER SYSTEM SET result_cache_max_size = 2M SCOPE = MEMORY; 

Which is the effect of this command? 
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A. The query result cache is enabled and 2 MB of the memory target is allocated to the result cache. 

B. The query result cache is enabled and 0.25% of the memory target is allocated to the result cache. 

C. The command produces an error because the database instance is started up with the
RESULT_CACHE_MAX_SIZE parameter set to 0. 

D. The query result cache is not enabled because the database instance is started up with the
RESULT_CACHE_MAX_SIZE parameter set to 0. 

Correct Answer: D 

 

 

QUESTION 3

When do you use static SQL as a technique for avoiding SQL injection? 

A. when the WHERE clause values are unknown 

B. when the code contains data definition language (DDL) statements 

C. when all Oracle identifiers are known at the time of code compilation 

D. when the SET clause values are unknown at the time of code compilation 

Correct Answer: C 

 

QUESTION 4

You created an application context successfully. The user OE was granted the EXECUTE privilege on the
DBMS_SESSION package. The user receives this error while setting the value for an attribute within the context: 

SQL> EXECUTE 

DBMS_SESSION.SET_CONTEXT(\\'SALES_ORDERS_CTX\\',\\'ACCOUNT_MGR\\',\\'OE\\'); 

BEGIN DBMS_SESSION.SET_CONTEXT(\\'SALES_ORDERS_CTX\\',\\'ACCOUNT_MGR\\',\\'OE\\'); 

END; 

* 

ERROR at line 1: 

ORA-01031: insufficient privileges 

ORA-06512: at "SYS.DBMS_SESSION", line 94 

ORA-06512: at line 1 

What is the reason for this error? 
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A. The context was created with a package name in the USING clause. 

B. The attribute can be set only in the package associated with the context. 

C. The package associated with the context did not exist at the time of creation of the context. 

D. The value for an attribute of a user-defined context can be set only by the ALTER SESSION command. 

Correct Answer: B 

 

 

QUESTION 5

Identify the component of the PL/SQL hierarchical profiler that uploads the result of profiling into database tables. 

A. the trace file component 

B. the analyzer component 

C. the shared library component 

D. the data collection component 

Correct Answer: B 
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